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SECTION A {20 marks)

Questions 1 to 10 carty 1 mark each. Question 11 to 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade your answer (1. 2, 3 or 4) on the OAS provided. All
diagrams are not drawn to scale,

1. Inthe numeral 3 891 457, the value of digit 8 is

(1) 8x100

(2) 8x1000

(3) 8x10000

(4) 8x100000 . . S o )

2. Arrange the fractions %%% in descending order.
3714
1 -z
(1) 33
4 3 1
2 P iy
@) 5472
143
@ 22
(3 257 L
. 134 ( )
4y -2
( }. e
3." Sumathi has a foll of ribbon which is 6 m iong.
What is the maximurm number of 30-cm pieces that she can cut from
it?
(1) 16
2) 17
{3) 150
(4) 168 . { )
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4.~ What is the value of (100 —8p) + 4 when p = 5 2

18
@ 23
3) 25
@) 90

8. An apple cost $0.50, an crange cost $0.40 and a leman cost $0.35.
Find the ratio of the cost of the apple to the cost of the orange to the
cost of the lemon. Express your answer in its simplest form. -

(1) 5:4:3
2) 5:4:35
38y 10:8:7

(4) 50:40:35

8. Express 7-§las an improper fraction.

(M 20
8
@ a3
8
@ s
3
@ 6
8

Which one of the following is the same as 7% km?

(1)  7.375m
2) 73.75m
(3 7378m
4)  7375m
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8. The diagram below shows the different landmaiks in Town Y,

Fitness
Centre

/ Market
-——1 Happy School - ]
- Mall —

_Cinema_ / | \[ Food Centre

Park

Librar‘y _

‘G.omm-uni_tf./ |
Club

dJohn is standing &t Happy Mall and ia facing the market.
He tums 135° in a clockwise direction,

Where is he facing now?
(1) Park
(2) * Libeary -

{(3) Food Centre
(4)  Community Club

8. Simplify 10k + 12 — 3k + k — 5.

(1) Bk+7
(2) Bk+17
(3) 8kw7
(4) 8k+17
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10.  Which one of the following is a net of the solid shown?

(1 / "_\

@

(3)

@ e,

(4)
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11.

12,

13.

4.

Lucy took 3h to travel from City X to City Y at 80 km/h.
George took 2h to travel from City Y to City X.
Find George’s average speed.

(1) 40 kmm
(2) 90 ket
(3) 120 km
4y 180 km/h

Add up all the even numbers between 1 and 23.
What is the digit iri the tens place of the sum?

{1y 1
2 2
@ 3
@ 0

Li Min had 35 stiokers. Her brother had 28 stickers.
Express the number of stickers L Min had as a percentage of the
number of stickers her brothier had.

My 20%
@) ssg %
3 80%

4) 125%

The amount of money $ue had was 2% times that of Winnie's,

Express the amount of money Winnie had as g percehtage of the
amount of money Sue had,

M 28;:- %
@ 40%
(3) 60%
@) 250%
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15.

Sally bought 72 beads from the shopping mall.

She wanted to pack all the beads equally inta packets.

She wanted fo have at least 4 packets and also at least 3 beads in
each packet. How many different ways can she pack her beads?

LI
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SECTION B (20 marks)

Questions 16 to 25 carry 1 mark each. Queétions 26 fo 30 carry 2 marks each.
Write your answers in the Spaces provided. For questions which require units,
give your answers in the units stated. All diagrams are not drawn to scaie.
Answers in fractions or ratio must be éxpressed in the simpiest form.

16.  Use the digits below to form the largest odd number.
Each digit can only be used once.

0,2 5,67

Ans: __

17.  Find the value of 87 + 4322+ 7 -6x8,

Ans:

18. ~21- of Ais equal to -2- of B,

Express B as a fraction of A inthe simplest form.

Ans:
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19, Mrs Lim had 4% kg of sugar. She used 1 -;- kg of sugar to bake a cake.

How much sugar had she left? _
Leave your answeér as a mixed number in the simplest form.

Ans: kg

20. Express 3;73 as a decimal correct to 1 decimal place.

Anis:

21.  Express 20 030 cm in metres and centimetres.

Ans: m cm

Page 8 of 13




22.  The figure below, not drawn to scale, is made up of 3 semicircles,
Given that OX = OY and XY is a straight line measuring 14 cm,

find the perimeter of the figure. (Take nr = -2'7—2)

Ans: _ cm

23. Vianis k years old,
Richsird is three times as old as Vivian byt

Express Ahmad's age in teams of k.

he Is 2 years older than Ahmad.

o 5 ¢ 4

Ans: years old
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The table below shows the charges for two game stalis at the amusement park.

24,
' Ring Over Blocks Froggit
Charges per Adult | $3 $3
Charges per Child $2 $1

Mr and Mrs Lim took thelr child to the amusement park.

Each of them played all the games only once.
What was the average spending of the 3 peopls at the amusement park?

Ans:$

25.  Ali cormpleted his homework at 1.20 p.m.
He took 2-—21- hours fo complete.his homework.
What time did he start?.'Give your answer in 12-hour clock.

Ans:

LI
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26. inthe figure below, not drawn to scale, AB = AD, BC = CD and AC = CE.
Given that 8D is perpendicutar to AE, find the area of the shaded part ABCD.

A

A

12 cm

Ang: em

27. Susan bought 3 identical books and 8 identical pens. o
ooks and 7 such pens, & would cost her $15 more.

If she had bought 4 such b
ifeach pen cost $7 less than each book, what was the price of one book?

Ans: $
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Susie spent = of the sum of money she had on a watch and %of the remainder

28.
on a handbag. If she had $390 jeft, how much money did she have at first?

Ans. 3

g services at a bookshop are shown in the table

29. The rates for photécopyin

below.

Cost per page
$0.08
$0.05

Numbet of pages
First 50 puges
Subsequent pages

How much does It cost for Mrs Lim to photocopy 150 pages?

L

Ans: $ _
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30.  The figure below is not drawn to scale,
QR = RS =ST. Find £UQR.

Ans;

Setters: Mr Desmond Lee, Ms Lee 8K, Ms Wai SH
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Questions 1 to0 5 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. Al diagrams
are not drawn fo scale unless otherwise stated. (10 marks)

1. The ratio of the amount of money Jane had to the amount of money Kathy had
was 3: 1. Jane had $200 more than Kathy. '
How much must Kathy give to Jane so that the ratio of the amount of money
Jane had to the amount of money Kathy had becomes 7 - 19

Ans: $ {2}

2. Belle had $63.60 at first. She bought 7 papayas at $3a each.
How much money had she left? -

3. Mrlm travelled from Town P towards Town Q at an average speed of 80 km/h
- during the first 3 hours of his joumney. Then he travelled another 360 km to
reach Town Q. What was the distance between Town P and Town Q7

@ g 4

Ans: km [2]
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4. Inthe figure below, not drawn to scale, ABCD is a trapezium.
Given that AB // DC, find the area of triangle BCD.

85 e
o

i
54¢m:

A

Ans: _ om? [2]

5.  For her Science examinations, Lyna scored 84 marks for mid-year and
60 marks for finat year. What was the percentage decrease in her scores?

L Y .

Ans: % [2]
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question and write your answers in the spaces provided. All diagrams are not drawn
to scale unless otherwise stated,

The number of marks available is shown in the brackets [ ]at the end of each
question or part-question. (50 marks)

6. Jolene and Stella save $7800 altogether.

3
Jolene’s savings is 3 of Stella’s savings. How much does Stella save?

ﬁnS:‘ 13

7. The table below shows the number of muffins sold in a week,

Day | Number o_f Muffins Sold
Monday to F ric_iay 3d per day
Saturday d+18
Sunday B 3d-2

(2  Find the total number of muffins sold in the week,
.. Express your answer in terms of d. ’
(b) Giventhatd = 80, find the total number of muffins sold over the weekend.
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8. Observe the pattern in the table below :

Column | Column | Column | Column | Golumn | ...... Column
1 2 1 3 4 5 77
Row 1 1 2 5 10 |{a)(iH)__ by
Row 2 4 3 6 11
Row 3 9 8 7 12
Row 4 18 15 14 13
Row5 | {a) (i) __
Row 77
(a} Find the vaiues of (i) and (ii).
(b) What is the first number (Row 1) in Column 777
Ans: (a) O ___ {1 @ ___.[1]
(b} _ (2]

9. Pears were sold in packets of 12 and each packet cost $7. William had $240.
What was the maximum number of pears he could buy?

Ans: {3]
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10.

11.

To prepare iced lemon tea, Mrs Soh had to mix black tea, lemon juice ang
sugar syrup in the ratio 40 - 2 - 3.

if she used 1 fitre of biack tea, what would be the total amount of letnon juice
and sugar syrup needed? Express your answer in me

Ans: ' _[3]

At fitst, Ashley had 550 marbles altogether. There were -«3— as many biue
marbles as yellow marbles., Later, she bought some blue marbles.

For every 4 vellow marbles she: had, her father gave her 25 more yellow
marbles. The total number of yellow marbles then became ;% times that of the

biue marbles. How many blue marbles did she have in the eng?

Ans: _ {3
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12. Town Lala and Town Yaya are 840 km apart.
At 8.30 a.m., a car left Town Lala for Town Yaya, travelling at a constant speed.
Atthe same time, a lorry set off from Town Yaya for Town Lala at a constant
speed too. At 1.30 p.m., the two vehicles passed each other.
If the speed of the car was 24 km/h faster than the lorry,
find the speed of the car.

Ans: 14}
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13.

Ali went to a gardening D.L.Y. store to purchase 4 wooden planks A, B, C and
D with pre-drilled holes on them,

Plank A had 9 holes which divided it into 10 equal parts.

Plank B had 7 holes which divided it into 8 equal parts.

Ali assembied the planks together to form a rectangular border for his potted
plants. The holes at w, x, y and z formed the 4 comers of the rectangle.

if Plank A is 360 ¢m long, find the length of Plank B.

w [ |PlankC [ 1Plank D

Plank A %
+ O
Z
L » * ]
Plank B
y

° 8o 4

Ans:

Page 7 of 12

S



14, There are 4 adults. Each time, two aduits are weighed, giving a total of §
readings, in kilograms as listed below:

103.5, 111, 112.5, 117, 118, 122

What is the average mass of the 4 adults?

o oy .

Ans: (4]
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5. (a) The diagram below is m
Given that OA = AB, fin

ade up of a semicircie and a triangle OBC.
d the perimeter of the shaded parts in termis of 7.

Ans;: (a) _ 131

(b) The diagram below shows &

pattern that is made up of identical squares
and quadrants. Find the total

shaded area. (Take = 3.74)

Ans: (b) {2}
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16.

Lynette had a total of 8000 gold, silver and bronze beads at first.
30% of them were gold and 35% of the remainder were silver.

She sold i—- of the gold beads and % of the bronze beads.

How many beads had she left?

Ans:
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17.

Mr Lee sold 15% of his cupcakes on Monday.

He sold 90 fewer cupcakes on Tuesday than on Monday.

He then sold 70 fewer cupcakes oh Wednesday than on Tuesday.

On Thursday, he sold 330 cupcakes and found that he had haif of his original
number of cupcakes left. '

How many cupcakes did he sell altogether?

Ans:
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5]

L



18. There are some red and green beans in & container.
If Ahmad removes 20 red beans, the ratio of the number of red beans to the
number of green beans becomes 6 : §.
if Ahmad removes 10 green beans. the ratic of the number of red beans to the
number of green beans becomes 4 : 3.
How many beans are there in the container?

Ans:

Settors: Mr Cesmand Lee, Ms Lae SK, Ms Wai SH
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SCHOOL : RAFFLES GIRLS'
SUBJECT: PRIMARY 6 MATHEMATICS

TERM : saA1

[Qr [ Q2 [ o3 Q4 1 Q5 | Q6 | Q7 [ Q8] Q9 [oio] o1t Q12 [Q13[Q14] 015
4 2 1 1 3 4 4 q 3 2 2 3 4 2 2

16)76205 17)42 18)2/3 19)29;10kg 20)3.6
21)200m 30cm  22)44cm 23)(3k-2) 24)$5 ' 25)10.50

26)27cm: 27)$11 28)$910 29)$9 30)53°

Paper 2

1)3:1=6:2
6—-2=4
2004 = $5¢0

2)3ax7 = 21a
Ans: $(63.60 — 21a)

3)60 x 3 = 180
180 + 360 = 540km

4)30 x 542 = 810cm2

5)84 - 60 = 24
24/84 x 100% = 200/7% = 284/7%

6)3+5=g .
78008 = 975
975 x 5 = 4875
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7)a)3d x5 = 15d
15d+d+ 18 +3d-2
= (19d + 16)muffins
b +18+3d-2
= 4d + 16 (weekend) -
4 x 80 = 320 '
320 + 16 = 336 muffins

8)a)i)5 x5 = 25 )16 + 1 =17
b)77 + 76 = 153
77 X 77 = 5929
5929 — 153 = 5776
5776 + 1 = 5777

"9)12x7 =84
240--7 = 34r2
34 x 12 = 408 pears.

10)1L = 1000ml
100040 = 25
2+3=5 . S o -
25 x5 =125ml S SR

11)3 + 8 =11
550+-11 =50
50 x 3 = 150 (B)
50 x 8 = 400 (Y)
4004 = 100
100'x 25 = 2500
2500 + 400 = 2900 (y aft)
12/3=5/3 :
29005 = 580

" 580 x 3 = 1740 marbles,

12)24 x 5 = 120
840 — 120 = 720
720 + 2 = 360
360 + 120 = 480
480+5 = 96km/h

L
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13)360+-10 = 36
36 x8 = 288
288=-6 =48 (1 part of B)
48 x 8.= 384cm

14)2x 6 = 12
103.5 + 111 + 112,54+ 117 + 118 + 112 = 684
68412 = 57

15)a)36=2 = 18
(" x2x18) + 2 =18«
36 + 18 + 28 = 82
(82 +18 n )em

b)(3.14x 9 x 9) -4 = 63.585
9x9 =81
81 - 63.585 = 17.415
17.415x 6 = 104.49¢cm:>

16)30% = 3/10 = 60/200 (G) o
" 35% =7/20 o
1-3/10=7/10
7/10x7/20 = 49/200 (s)
8000200 = 40 (1/200)
60+4 =15
15 x 40 = 600 (sold)(G)
200 - 49 - 60 = 91 (B)
40 x 91 = 3640
3640=5 = 728
728 x 2 = 1456 (sold)(B)
8000 - 1456 — 600 = 5944 (left).
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17)15% = 3/20
2052 = 10 (2)
M->3u
T2>3u-90
W->3u — 160
Th->330
Left->10u
160 + 90 = 250
330-— 250 =80
10u~3u—-3u—-3u=1u
80 x 10 = 800 (10u)

18)60 + 40 = 100 S e
- 20-18=2°

1002 =50

6+5=11

50 x 11 = 550

550 + 20 = 570 beans.

© s
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